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PRINCE OLYMPIAD EXAMINATION

B opcer i

Instructions regarding filling of OMR Sheet are
mentioned on the OMR Sheet only.

The duration of the examis 12 Hours.
The Question Booklet consists of 100 Questions,

each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as
follows: Maths-25, Science-25, S.St.-20,
English-20, MAT-10.

Candidates will be awarded 4 Marks for the
indicated correct response to each question.
One mark will be deducted for the incorrect
response to each question.

Space for rough work is also provided in the
Question Booklet.
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5 5 14 )
02. Subtract the additive inverse of 5 from the multiplicative I 02. _7XE & UHTHS Gohd H 9 5 ANTCHE shH
! u
INVerse o 715" YTy |
3 2 3 2
) @73 M7 @ 3
3 2 3 2
3 =3 @3 ®) -3 @3

03. Simplify using associative property:

7 ( 24 28
16 I 49 15I

03. TEe IO BT IUART HRd A IIN—
7 24 28
16 49 15

28 2
Ol = = 3

2 3 2 3
G35 S 3 ~3 @ 73
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04. ABCD is a parallelogram and L is a point on DB. the I 04. ABCD U&% AR Il & 3R L, DB W Ua fig 7|
produced line AL meets BC at M and DC produced at | IArfed &1 AL, M fag W BC ¥ faerd 2 ¢l Sarfed
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

. AB AB
N. Giventhat DI =3B, find == &1 DC, N da & S DI, = 31.B %,Fﬁaaﬂtﬂ:f

CN -~
5 T BN |

3 A ; D A
15 M 3

l ¢ B 1 c
@ 3 M @ 5 Mo

4 4
@) 3 3 3

1 f 1 <
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05.

06.

07.

08.

09.

10.

11.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

In a parallelogram ABCD, /B = (2x + 25) ° and

£D=(3x-5)°. Find The value of x.

(1) x=30° (2) x=32°

(3) x=45° (4) x=34°

An exterior angle and an interior angle of a regular
polygon are in the ratio 2 : 7. find the number of sides

in the polygon.

(12 )7

3)9 4)18

If the square ends with 6, then the number has ........ or
......... in the units place.

()2o0r8 2)4or6

(3)1lor9 43o0r7

Which one of the following cannot be the square of a
natural number?

(1) 30976 (2) 75625

(3) 28561 (4) 143642

What is the smallest number by which 338 is multiplied
or divided to make a perfect square?

(1) 13 2)4

3)6 42

A dealer earned a profit of 5% by selling a radio for Rs.
714. What is cost price of the Radio?

(1) Rs. 480 (2) Rs. 680

(3)Rs. 780 (4)Rs. 700 |
Mr. Rai bought a machine that was tested at Rs. 320. |
He was given successive discounts of 20% and 10%, |

I
05.

06.

07.

08.

09.

10.

11.

TS GHGR agEel ABCD #, ZB=(2x+25)° 3R
ZD=(3x-5)° § x @I A S N |

(1) x=30° (2) x=32°

(3) x=45° (4) x=34°

U HATG I8YSl & Ueh dTel 10 iR Ueb 3TcAReb pIoT
BT U 2 : 7 B 9gYS d OB B WA S
DI |

1) 2 Q) 7

3) 9 ) 18

Ife o 6 IR AT BIAT &, <1 AT § bl 7 UR
....... AT ... BT B

(1) 2 3R 8 (2) 4 3R 6

(3) 13k 9 (4) 3 3R 7

FfeRad & | PI4 A1 Udb UTehfeieh AT T ¥ T8
&1 bl &7

(1) 30976 (2) 75625

(3) 28561 (4) 143642

I8 e BIC] W B T & 79 338 PI UM AT AR
H U UH qOF o[ g 87

(1) 13 2) 4

()6 (4) 2

U SIa o U ST Bl 714898 H d9dR 5% BT A
BHIIT & I ST BT AN oI HT 87
(1) 4807 (2) 680%TY
(3) 780%T (4) 700%T
S M 71 U A ST FTHET GeRTor 320 B9 § S
20% 3R 10% @1 b B & I3, Al SHA Sl B

then the price he paid was | ﬂ’cb—lé qg ot
(1) Rs. 120.40 (2) Rs. 220.40 | (1) 12040 &I (2) 22040 T
(3) Rs. 230.40 (4) None of these | (3) 23040 ®HTY (4) 379 ¥ I3 T8l
I
Space for Rough Work
PCP sikar Class : VIII/P-4 I IT-JEE | NEET | OLYMPIADS 3
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40% of 2400+ x% of 600=50% of 3840. x =7 I 12. 40% of 2400+ x% ®T 600 = 50% ®T 3840. x =?
(1) 50 (2) 40 | (1) 50 (2) 40
(3) 80 (4) None of these | (3) 80 (4) 379 ¥ ®Ig 81
Fvaluate: - I 13. 3216x(-343) @1 qeaie & —
3216x(—343) |
()21 (2) -42 : (1) 21 (2) —42
(3)-21 (4) None of these | (3) —21 (4) 379 ¥ I3 T8l
The digit at units place of the cube root of 2197 is ...... | 14. 2197 D Tl $ SHIS W W 3P B.....

(1)3 (2)9 (1) 3 ) 9
(3)7 4) 6 (3)7 4) 6
Find the smallest number by which 2340 must be | 15. I8 Ha¥ BIC! T HA BIFSY [THBT OB 2340
multiplied so that the product is a perfect cube. gl dIf IO U Yoi T Bl |
(1) 25350 (2) 23350 (1) 25350 (2) 23350
(2) 6580 (4) 11780 (2) 6580 (4) 11780
th rd . lzh
A man has Rs x with him. He gave 2 to his wife, 3 16. UH 3MSH & UTE x B0 & | G Y1 gl Eﬁz ,

to his son and Rs. 1000 to his daughter. Find x.

rd

aﬂﬁééaﬁg 3R 1000 YA BT 91 BI, T x DI
A ST BT |

(1) 2400 (2)2200 (1) 2400 (2) 2200
(3) 2000 (4) None of thse (3) 2000 (4) 379 ¥ I3 T8l
17. The sum of three consecutive multiples of 5 is 45. Which | 17. 5 & WI¥ SR 0TSl &1 AT 45 © | A1 I[0TGll H HaH
is the smallest of the three multiples? BICT I[OTS I AT B°
(H)10 2)5 (1) 10 (2) 5
(3) 15 4)20 (3) 15 (4) 20
18. Solve :- 18. 8(3+2x)=13x &I & B, 3R x HT A I PN |
8(3+2x)=13x, find x.
(1) -8 (2)8 (1) -8 (2) 8
L ol N ol
3 3 O 3 3 @ 3
Space for Rough Work
PCP sikar Class : VIII/P-4 I IT-JEE | NEET | OLYMPIADS 4
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19.

20.

21.

22.

23.

24.

25.

PRINCE OLYMPIAD EXAMINATION
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When a dice is thrown, list the outcomes of an event of l 19. S Ud U bl ST ®©, AT HTod AT UTT 819 &l

getting composite number.
(1) (2,4,6)

3) (4,6)

In a bar chart :-

(1) Rectangles are of equal lengths

(2) Width of rectangles is fixed.

(3) Rectangles are drawn with unequal shapes between

2) (1,4,6)
(4) None of these

them.
(4) Width of rectangles carry important meaning
The pie chart is divided into ..........
(1) Sectors (2) Circles
(3) Squares (4) Segments
Is it possible to construct a rhombus with its diagonals
equal to its side?
(1) No (2) Sometimes
(3) Always (4) Can't say
Construct a rectangle ABCD, when its sides are 6cm
and 7.2cm.

Then, relation between diagonal AC and BD is
(1) AC =BD (2) AC <BD

(3) AC > BD (4) Cannot say
Polygons that have no portions of their diagonals in their
in their enteriors are called.......

(2) Convex

(4) Triangles

The ratio of two adjacent sides of a parallelogram is

(1) Concave
(3) Squares

4 5. Ifits perimeter is 72cm, find its adjacent sides.

(1) 18cm and 25¢m
(3) 16cm and 20cm

(2) 18cm and 20cm
(4) 16cm and 25¢cm

20.

21.

22.

23.

24.

25.

gl & RO &1 il a1 |

(1) (2,4,6) ) (1,4,6)

(3) (4,6) (4) 37 9 B T
TUS 3N ¥ —

(1) S A dls & Bl &

(2) 3Gl @ drerg Af¥ed 2

(3) ST dTF STHAT ATHITAT & AT TR Wil STl
g |

(4) Il @ des AeayYl aref Wl &

e A Bl ... I fowforg fopar mam 8

(1) WereR (2) 9a

3) @t (4) @S

T B! oIl & R [IH0T Il Ueh HAAGO]

T 9T 57
(1) =181 (2) FHI—FHT

(3) wad (4) B8 & wHd

T AT ABCD &1 X1 SISy, 5d 39S Sl 6
I &fR 7.2 I &Y

iy, fa@wol AC 3k BD @ /9 Hed 2.

(1) AC =BD (2) AC <BD

(3) AC > BD (4) &8 7Bl Hhd

T 9ol s SNiaRes w7 # fadolt o1 I W 78
(1) 3raaa ) ST

(3) it OREL

Teh HHITR TGS bl QT 3T T3 BT 3T 4 5
g1 Al Hdr aRRY 72 WA 8, A1 SHST M oI
ST BT |

(1) 18 I iR 25 |
(3) 16 I iR 20 |

(2) 18 I 3fR 20 |
(4) 16 I iR 25 FHY

Space for Rough Work
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26.

27.

28.

29.

30.

31.

What is the primary goal of crop rotation ?

(1) To increase crop yields

(2) To reduce soil erosion

(3) To control pests and diseases

(4) To improve soil fertility and structure

Which of the following is a benefit of using high-vielding
crop varieties ?

(1) Increased water requirement

(2) Improved drought tolerance

(3) Reduced fertilizer application

(4) Enhanced resistance to pests and diseases

What is the term for the process of supplying water to
crops through artificial means ?

(1) Irrigation (2) Drainage

(3) Mulching (4) Fertilization

What is the primary function of a crop’s root system ?
(1) To absorb sunlight

(2) To produce flowers and fruits

(3) To absorb water and nutrients

(4) To store food

Which of the following is a benefit of organic farming?
(1) Increased use of chemical fertilizers

(2) Improved crop yields

(3) Enhanced soil fertility and biodiversity

(4) Reduced water consumption

What is the term for the chemical reaction that occurs
when a substance combines with oxygen to release heat
and light ?

26.

27.

28.

29.

30.

31.

W ThUT DI ATAHDG e qaT B ?

(1) T & USTIR 911

(2) Y& ARG DI B DA

(3) dIct 3R It &1 i v

(4) <1 IRAT 3R EGAT § IR B

3fIH JUST < aTell Hel fhel &I ST & &l
frafoRea #a s AT e B °?

(1) Uil &7 3raIdhar ¥ i

(2) g & vl 9508 AT

(3) SRE BT HH STANT

(4) DIl 3R dHIRAT & Ui 9<T g5 UfcRIE® erHar
M Al & ATETH | Bl Bl U1 b T[T B
B AfchaT BT AT HEd © 7

(1) Rars (2) STet I

(3) wfea T (4) fe=

HEA B oS TOTTell &l Wiafid arf @ & 2

(1) G & UBI DI T BT

(2) el 3R el UaT BT

(3) UTT 3R WY deal ol Jraenid oA

(4) A BT HSROT BT

Sifdes Wt &1 FrafaRea § T e AT A 8 2

(1) IRTIf® SARBE BT a1 ST

(2) 95 T ISR

(3) FEY @1 SaRar <iR g fafderar # i

(4) T @Y gud | B

o9 BIs yeref affedior & arer fard) T iR marer
Bredl & d 819 drell Imaf«® ufafdar & @ dsd
4

(1) Combustion (2) Respiration (1) <3+ (2) =g
(3) Decomposition (4) Fermentation (3) 3gecH (4) fpva
Space for Rough Work
PCP sikar  Class:vii/p-4 I IT-JEE | NEET | OLYMPIADS 6
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32.

33.

34.

35.

36.

PRINCE OLYMPIAD EXAMINATION
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Which of the following is a characteristic of a luminous
flame ? |
(1) It produces no light

(2) It produces a blue color

(3) It produces a yellow or orange color

(4) It produces no heat

I
I
I
I
I
What is the term for the minimum temperature required :
for combustion to occur ? |
(1) Flash point I
(2) Ignition temperature |
(3) Burning point I
(3) Melting point |
Which of the following is a type of combustion that |
occurs rapidly and releases a large amount of heat and I
light ? |
(1) Smoldering combustion

(2) Rapid combustion

(3) Slow combustion

(4) Complete combustion

Which of the following is a type of combustion that
occurs in the presence of insufficient oxygen ?

(1) Complete combustion

(2) Incomplete combustion

(4) Slow combustion

What is the term for the process of introducing non-
native species into an ecosystem ?

(1) Invasive species

(2) Endangered species

(3) Extinct species

I

I

I

I

I

I

I

I

I

I

(3) Rapid combustion :
I

I

I

I

I

I

(4) Introduced species I
I

33.

34.

35.

36.

| 3. fr=faRad 5 9 o9 W e 99dheR < &l fagvar g ?

(1) TE PIS TBIIT S~ A8l Bl

(2) T8 el 7 S~ Bl &

(3) T8 WeAT AT AR [T IO~ Bl B

(4) I8 P13 W SO ST BN

T8 @ fOTU ATaRID <LAAH ATUAT DI FIT HEd & 7

(1) wler dige

(2) SRETSH amUEH

(3) I dfge

(4) #feeT dige

f=ferRaa # & @9 91 <89 &1 U YR © o Aol |
BIAT & 3R g 7131 § T4 3R Y1y vrsdr & ?

(1) GeITTaT B3I <8+

(2) 9IF <8

(3) 9T <8 A

(4) of <&

=1 § | P19 a1 <84 i SifaRio &l suferfa #
B9 AT G891 © ?

(1) T <&

(2) I <&

(3) T <8

(4) 91 <8 A

fosy aiRRerfia a3 # R—<eh yonfoat & wnfaa
B BT UhAT BT FAT HEd 87

(1) 3MhTH USITferdt

(2) FaeIT uaTferdt

(3) foeea sraTferait

(4) U9 @F T3 Yonfat

Space for Rough Work

PCP, Sikar
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| 37.

37. Which of the following is a type of conservation 91§ | P9 AT T YA &7 U DR © °
effort ? I |
(1) In-situ conservation | (1) 79I HReTu
(2) Ex-situ conservation | (2) TRH—HIc, EReT0T
(3) Habitat conservation | (3) 3T H&To
(4) Species conservation : (4) USITIT H2eTor
38. What is the term for the variety of different species | 38. Tl aTRRerferent o1 4 Higlg fafi—1 aromfal a1 fafderar
present in an ecosystem ? | DI T BB & 7
(1) Biodiversity | (1) ST fafderar
(2) Ecosystem | (2) uTRRerferadr a1
(3) Habitat I (3) 3fTarH
(4) Population | @) \_rFF\H@JT |
39. Which of the following is a threat to plant and animal | 39. =#1 ¥ ¥ @M |1 U 3R U I & AT GART © ?
conservation ? |
(1) Habitat destruction  (2) Climate change | (1) smare R (2) rerary aRad
(3) Pollution (4) All of the above I (3) ugyr (4) SURIH |HI
40. What is the term for the process of protecting and | 40. Tl DI RETT 3R T Bl Hfchar & foly oI 9 & 2
preserving forests ? |
(1) Afforestation (2) Deforestation : (1) TRIgr (2) T B Bers
3) .Reforestatlon . (4? Conservation | | (3) Fﬂ:ﬁw (4) a1 o
41. Which of the following is a disadvantage of using coal | 41. j;l:[ $ w0 H dnl;c'i BT SYANT B3 ol FrferlRad #§ |
as a fuel ? | T IHA T 7
(1) Abundant supply (2) Low cost | (1) I=R Sﬂfjﬁf (2) PH NI
(3) High pollution levels  (4) Easy transportation | (3) ST U &R OEINIERITCRS
42. What is the term for the remains of ancient plants and I 42. UG Ul iR SR @ Jraemi @ forg @ ves & o
animals that are converted into petroleum ? | ygiferaw # gRafia fasar Sirar @ 2
(1) Fossil fuels (2) Biomass | (1) Sfrared ga4 (2) ST
(3) Kerogen (4) Sedimentary rocks | (3) DR (4) Ty gg™
43. Which of the following is a type of coal mining ? | 43. Frafoafed 3§ 9 9 @1 SR @19 @1 Uh UHR & ?
(1) Surface mining (2) Underground mining I (1) A8l G (2) qfard @
(3) Strip mining (4) Open-pit mining | (3) UE! WA (4) Gl T G
Space for IRough Work
PCP sikar  Class:vii/p-4 I IT-JEE | NEET | OLYMPIADS 8
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44. Which of the following is the purest form of carbon ? l 44. =foRad 9 & @9 A1 Bred & J99 g »d g 7?
(1) Coal gas (2) Coal tar | (1) diet 4 (2) PIA TR
(3) Coke (4) None of the above | (1) d®d (4) SIRRE # | Iy el
45.  isa thick black liquid with an unpleasant odour. | 45. ... Tdh I I ITeAT MG Blell IRA & |
(1) Coal tar (2) Gasoline | (1) BT eR ) e
(3) Diesel oil (4) All of the above : (3) STt It (4) SIRKRH AT
46. What is the term for the ability of microorganisms to | 46. GGl @ UCIaTAIcd Sarsil T HiaRIE B &I &l
resist antibiotics ? | @ T o1 o © 7
(1) Antibiosis (2) Antibiotic resistance | (1) TS (2) Tearifed ufaRiE
(3) Immunity (4) Susceptibility | (3) uferRe (4) Hag=Teerdr
47. What is the term for the process by which microorganisms I 47. 39 " & foU @1 v & fONd g§WNT IS
convert atmospheric nitrogen into a form usable by | qIHSA T ATSCIoT B UiEl gRT START fhu o= avg
plants ? | wU H yRafdd & § ?
(1) Nitrogen fixation (2) Nitrogen cycle I (1) eI fRefRor (2) SIS ash
(3) Denitrification (4) Ammonification | (3) fasdifthae (4) sMifAfrarer=
48. Vaccines are made up of'- I 48. 1 /91 9 &9 BId 8~
(1) chemicals (2) weak microorganisms | (1) XTI (2) PHIR GeHoIT
(3) Viruses (4) Drugs | (3) arawH (4) 3frfert
49. Which of the following microorganisms is a foe to | 49. fr=forRaa & & o= @ A H—f[@ﬁ & forg T 2
humans and is responsible for causing food poisoning? | 3R @re fqurhar Uer & & forg R © 2
(1) Salmonella (2) Escherichia : (1) ATHAT (2) vEiRfe=r
(3) Staphylococcus (4) Clostridium | (3) Rfhetidiamd (4) FAMRESTH
50. Some plants have nitrogen-fixing bacteria in their root | 50. BB Uil @ STl @F sl # ATSgIo—hfdaT dacian
nodules. What are these bacteria called ? | B © | S 9CIRAT Bl T HBT ST © 2
(1) Blue green algae (2) Nitrosomonas I (1) SrelT &7 AT W RIEVNIBIEES]
(3) Azotobacter (4) Rhizobium | (3) Tollclddcey O RESIERE
I
Space for Rough Work
PCP sikar  Class:vii/p-4 I IT-JEE | NEET | OLYMPIADS 9
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Zfsucm sclENcEJE

. Right against exploitation does not include which | 51. wivor & favsg s R ¥ &9 @1 iy e 787 82
prohibition? |
(1) Prohibition of trafficking

(2) Prohibition of forced labor

(1) T R A
(2) IATT $19 BT foer
(3) 14 I | HF U & Tl B ISR IR Hforae

(3) Prohibition of employment of children below 14 years

of age
(4) Prohibition of untouchability (4) ST &7 fHoEr
52. Which court issue the Writs? 52. @ A1 AT Re SR et 87
(1) District Courts (1) STt =marera
(2) Panchayats (2) darrd

(3) Supreme Court/High Courts
(4) Civil Courts/Criminal Courts

(3) STATH AT/ ~ATATeT
(4) Rofod =mTera/smuRIeE <y
53, BUR AU &1 uRey w7 gR9d Hear 87

53. What defines the introduction to our constitution?

(1) Sovereignty (2) Preamble (1) |y (2) I¥TaT
(3) Constitution (4) None of these (3) fdem (4) 79 9| P TE
(1) Force by legal authority (1) BN AABNY §RT dc
(2) Force by parents (2) ATIT—UTT §RT STEaRERIT HIAT
(3) Force by Law (3) P G dct
(4) None of these (4) 79 9| P TE
55. What was the names of the Muslim dominant former | 55. YR U9 Il Yd WA SUMARI & FAT A1 97
French colonies?
(1) Tunisia (2) Morocco (1) S=ERET (2) ARGDI
(3) Algeria (4) All of these (3) 3reiIRaT 4) 3
56. Which are the main types of Bills? 56. TOER® & I UBHR B 4 87
(1) Money Bills (2) Financial Bills (1) g faga® ) foia s
(3) Ordinary Bills (4) All of the above (3) drEReT fog® (4) SRKRH AT

57. What is Zero Hour?
(1) Begins at 2 o'clock (2) Begins at 12 o'clock
(3) Begins at 0 o'clock (4) None of these

57. I B T 87
(1) 2 991 Y% BIAT & (2) 12 991 IH BT ©
(3) 0 S TS BT & (4) T | PIS TE
I

Space for Rough Work

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
54. Explain the meaning of coercion. I 54, STENCHIT BT 37ef Wee Y |
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

PCP sikar  Class:Viil/p-4 I IT-JEE | NEET | OLYMPIADS 10
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58.

59.

60.

61.

62.

63.

64.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The chosen set of dates by the Historians become more | 55, SfIBTHGRI T gl T8 ANRdl T Ue T4 iR 3ffde

vital when the focus is on a |
(1) Particular set of events (2) Particular Location |
(3) Particular Battle (4) Particular King |
Historians believed that Time does nothave  dates |
in terms of a particular year or month

(1) Abstruse (2) Ambiguous

(3) Precise
From the years mentioned below, choose the correct
date of death of Aurangzeb, the Mughal ruler

(1) On 3rd March 1800  (2) On 3rd March 1707

(3) On 3rd March 1750  (4) On 3rd March 1850
Name the movement started in Italy in the 14th century

and lasted till 17th century that later provoked the

(4) Imprecise

I

I

I

I

I

I

I

I

I

I

Europeans to come to India and other countries. I
(1) Urbanisation (2) Nationalism |
(3) Socialism (4) Renaissance |
Who among the following introduced the Ryotwari |
Settlement system ? |
(1) Thomas Munro (2) Holt Mackenzie |
(3) Lord Dalhousic (4) Lord Cornwallis |
From among the regions mentioned below, which region :
introduced the Mahalwari Settlement System in 1822 ? |
(1) Bombay (2) Uttar Pradesh |
(3) Bihar (4) Madras |
Why was there a popular demand for Indian indigo in |
Italy, France and Britain? |
(1) India was the biggest producer of indigo and no other l
country produced indigo I

(2) There was a ban on indigo import in other countries |
(3) Indigo imports were tax free |
(4) Indigo was used to dye cloth and there was a huge |
demand |

5
6
6
6

63.

64.

9
0
1
2.
3
4

Hg<IyUl B1 Gl & O &1 bigd (BAT S 8
(1) =Rl & faRiy |9 (2) faviy oI

(3) fo=y Ig (4) fafre <o
. S8R & 7941 © b ol oy of a7 7189 &
ey § T BT ... TRRY T8l 8l &
() e (2) 3T
(3) IdI®H 4) 9d1®

. A SfeARad aul § | g wTHS TS Bl GG bl

HET AN g+
(1) 3 A1 1800 Bl
(3) 3 A 1750 Bl

(2) 3 A 1707 Bl
(4) 3 A 1850 Bl

. B9 QT Bl M qd18y Sif 1441 2] | 3eoll 4 g

831 3R 1741 TdTe] b FAT S 91 4 QRG-S
DI WIRA 3R 3 Q2 4 3 & 7Y S |

(1) TEAHI (2) IrgaTe

(3) |HISTATE (4) TSRO
FefeTRad 3 & fhae Yaaar) d_Iaw orell o Yo3ATd
P

(1) oI A0 (2) BleT Aol
OGIEESHES (4) @S dHared

A SfecRad &=t § 9 fba &= § 1822 # wgarS!
TR YUITel! Yo Bl 87

(1) s (2) SR 7e

(3) faBrR (4) 7o

gcotl, BN 3iR faes & ROy A & Al |7 Fat

of1?

(1) ART ATl BT T FST ST T 3R PIg 3T <
el &7 SUTa 8] Bl AT

(2) T W H N & 3T U= Hfcree S feam

(3) et 3maTd B qebh oA

(4) et BT STANT BUST W & v fobar e e s
ST MR AT off
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65.

66.

67.

68.

69.

70.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Water, Electricity, Rickshaw etc have all something in | 65. 9N, fasTeft, Reem anfe ¥ 4 &© T BB T &,

common, they have been used by people and hence they |
are all examples of |
(1) Patent (2) Skill |
(3) Utility (4) Potential |
On the basis of their use and development, Natural :
resources can be classified as

(1) Biotic and Abiotic resources I
(2) Actual and Potential resources I
(3) Renewable and Non Renewable |
(4) Ubiquitous and Localised resources I
Name the term that can be given to Land that is suitable |
for crop production.
(1) Untilled Land
(3) Forest Land

(2) Pasture Land
(4) Arable Land
Which one of the following statements is true with

I

I

I

I

I

respect to lands |

(1) People and their demands are growing because the |

availability of land is not limited. I

(2) Community lands are owned by the community for |

common uses like collection of fodder, fruits or :

medicinal herbs |

(3) Proper planning of land use with reference to the |

nature of land and the needs of the community would |
provide minimum returns.

(4) Community land belongs to an individual and hence |

he/she is free to cultivate in that land. |

Name the term that can be given to the various layers in | 69.

the soil after it is cut out like a slice of cake. |
(1) Soil Horizon (2) Top Soil

(3) Sub Soil (4) Soil Mixture

From the following which one can be described as
best example for having an economic value

(1) A beautiful sunset

(2) Affection from friends and family

(3) Resources like Iron, Manganese

(4) Good weather |

66.

67.

68.

I
I
I
a| 70.
I
I
I
I
I

g SUANT AT gIRT fham T © iR sferw 3
e 33T 57

(1) 9 (2) Preret

(3) SyAfrar (4) eTFeT

SUIRT U4 4T @ SR UR UTdhicd ARl Bl
. Ud # ffed fhar S A& o |

(1) Sifaw 3R smifas Hare™

(2) T iR HwTfad AT

(3) TAHRONI 3R IR BN

(4) AT 3R WG HERA

BT ITE & ol SUYeh A Bl DI AT Ted 31 S
Al &7

(1) dor A (2) aRTME A

(3) o (4) P A

I @ Hey # f=forRad # 9 @9 91 e w9 ©

(1) AT 3R ST A7 9¢ B & R®ife qH @
Syterdr Mg T8t 2 |

(2) TR, B AT AT TEI—q[ AT & HIT S AHAT
SYINT & foTT AH&TRI® 4 b1 Wiffcd Fqad &
U BIdT ©

(3) [ BT UPa R TR BT STRexdl & Gad H I

SUIRT &1 A ISHT FAaH Resl Ja &l |

(4) RIS q# e afth o 8Idl & 3R gHieY a8
S I R Wl FA & fol wdT B

I T BT M qA13Y O b & Cbs DI v dles

& q1g fAgT @ fafer= owdl &1 faar S | © |

(1) a1 ferfast (2) ¥ waT

(3) ST (4) a1 fror

FefeTRad # 9 fo a1ies Jeur g+ 1 HalH SaTERT

AT ST Fhell &

(1) <= gt

(2) IRt 3R gRaR & F'

(3) T8l IS oI G

(4) 3BT AR
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72.

73.

74.

75.

76.

. What did you buy for your mother?

(1) imperative sentences

(2) declarative sentence

(3) interrogative sentence

(4) none of these.

What will be the abstract noun of 'brave':-
(2) bravely

(4) none of these.

(1) braveness
(3) bravery
The adjectives that are used to show ownership or
belongings are called

(1) demonstrative adjective

(2) interrogative adjective

(3) emphasising adjective

(4) possessive adjective.

'Some' and 'any' are

(1) indefinite numeral adjectives

(2) adjective of quality

(3) adjective of number

(4) possessive adjectives

The pronouns are used to link clauses or sentences is
Known as

(1) distributive pronoun  (2) reflexive pronoun
(3) emphatic pronoun (4) relative pronoun
_left the water running in the bathroom,choose
the correct indefinite pronoun:-

(2) anybody

(4) nothing.

(1) anyone

(3) someone

77.

78.

80

81.

82.

83

Verbs that form their past tense and past participle by
adding_ed at the end are called

(1) regular verb
(3) finite verb

A 1s that form of which act as a noun in a

(2) irregular verb

(4) non finite verb

sentences, 1t ends with ING form
(2) participles
(4) none of these.

(1) gerund
(3) infinitive

9. This adverb answers how things happen

(1) adverb of manner
(2) adverb of place

(3) adverb of time

(4) adverb of frequency

. A shows us the direction, movement and location

of a noun or a pronoun
(2) adverb
(4) preposition

(1) adjective
(3) pronoun
What is the comparative degree of Clear
(1) clearest
(3) More clear
Which form of verb we use in present perfect tense
(1) 3rd form
(3) base form

(2) clearer

(4) most clear

(2) ing form
(4) none of these

. What is the collective noun of many wolves

(1) a pack of wolves (2) a fleet of animals

(3) An army of wolves (4) none of these
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PRINCE OLYMPIAD EXAMINATION
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81. Which tense is used in this sentence"He cleared his I 88. Milk, jam, oil, rice is related to uncountable nouns while
entrance exam" | books, pens,tables are related to
(1) present tense (2) past tense | (1) abstract nouns
(3) future tense (4) none of these : (2) collective nouns
85. A word that indicates action or a state of existence 1s | (3) countable nouns
called | (4) concrete nouns
(1) noun (2) pronoun l . A is a word or a phrase that is added to a
(3) adjective (4) verb : sentence to complete its meaning -
86. There are forms of verb "be" | (1) phrasal verb (2) participles
(1) eight (2) six | (3) complements (4) gerunds.
(3) four (4) five. I Identify the adjective word from given sentences
87. Use the appropriate adjective in the blank "too_ | Siddharth and Kiara are perfect for each other.
cooks spoil the broth" | (1) Perfect (2) For
(1) much (2) some | (3) Other (4) Kiara
(3) many 4) few. I
Space for Rough Work
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92.

93.

94.

95.

96.

97.

If A means - , B means = , C means + and D means x | 91.

then 25B5C24A2D 12=7

(1) 34 )5

(3)-23 @2

Choose the word for the second analogous pair :
Badminton : Court : : Cricket :

(1) Ground (2) Pitch

(3) Ring (4) Stadium

If HAT is coded as 8120, how is BAN coded in this
code?

(1)2124 (2)2114

(3)2021 (4)2020

If wall is called window, window is called door, door is
called floor, floor is called roof and roof is called ventilator,
what will a person stand on ?

(1) Window (2) Wall

(3) Floor (4) Roof

Which term comes next in the sequence:

AC, FH, KM, PR,

(1) UW 2) VW
(3) UX 4) TV
Find the next term: 15, 30, 60, 120, ?
(1)250 (2) 245
(3) 240 (4) 260

How many D's are there in the following series which
are immediately followed by W but not immediately
preceded by K ?
KDCWKDWNKGDWWDHKVDWZDW

92.

93.

94.

95.

96.

G ABTaRf e —, BadrarRf & «, Cararef g + 3R
D &1 31 & « Eﬁ25B5C24A2D12—?

(1) 34 @) 5

(3) —23 @) 2

TR AW IH & fore v gt

Badminton : Court : : Cricket :

(1) Ground (2) Pitch

(3) Ring (4) Stadium

Ife HAT &1 8120 & &9 ¥ pifsd fhar 7T &, df g9
®Is § BAN &I ¥ difed fdbar SIg?

(1) 2124 (2) 2114

(3) 2021 (4) 2020

Ife SaR &1 Rasad!, Rasad! dF IRATSM, Ao Bl B,
%3 B B 3R B Bl dfccle’ B8 9T df Udb Afh
fhd UR GST BITT?

(1) Rasar (2) AR

(3) Wt (4) ©d

HH ¥ STAT BIF AT U 7T &

AC, FH, KM, PR,

(1) UW (2) VW
(3) UX 4) TV
3NTCAT U ST PIT: 15, 30, 60, 120, ?
(1) 250 (2) 245
(3) 240 (4) 260

7. fr=ferRad siaar # 09 fsas D & fo9a Sid ae W

g dfdb I ugel K 81 87

KDCWKDWNKGDWWDHKVDWZDW

(1)Nil (2) One (1) Nil (2) One
(3) Two (4) Three | (3) Two (4) Three
Space for Rough Work
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98.

99.

100. Mukesh walks 6 km toward the South and then walks 3

PRINCE OLYMPIAD EXAMINATION

Which letter is exactly between G and Q in the English | 98, sisrsit avfarern ¥ G ik Q@ & 419 § P AT 3BT &7

alphabet? |
(H K @L |
G3)M (4N I

B opcp i
() K oL
&) M 4) N

Anil walked 10 km towards North, from there he turned | 99, 3l 10 b IR BT 3R oI, 981 F I8 I194 HeI

back and walked 6 km towards South. Then he walked |
3 km towards East. How far was he from the starting |

point ?
(1) 5 km (2) 17 km
(3) 9 km (4) 16 km

km to his left. Finally, he turns to his right and walks 6

I
I
I
I
I
I
km. In which direction is he from the starting point? |
I
I

3R 6 THHI TlRTUT BT 3R =l | TR a8 qd &I 3R 3
P aaT | g8 URRIe fdg 9 fbaei gr o

(1) 5 T+
(3) 9 T

(2) 17 T
(4) 16 BT

100.9%9 6 fadT Tferor @ 3R Fofar @ &fiR fhe arow e

3R 3 fHHl Tardr & | 3id #, 98 3+ <12 3R Il &
3R 6 ¥l Tefar & | TRfT® fdg & a8 fova faem # 87

(1) South (2) South-West (1) feror (2) TROT—yf¥eHm
(3) South-East (4) West | (3) eroT—qd (4) afdaH
Space for Rough Work
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